W 522 —
\'\ S»Wuw (, T o (cnaor venoble.

P B
(> 1Y 20 ans  p(Te-t1) <o
ﬁé P(=1.14 « Tell4) " |
M N — e
SO\ Keﬂ O\(Ea ud s Ve = | < //// \\Y/Ol\
reoys Hoteres i o=t OB 2NN
1 A\ N .
O.] + P(—\W‘ Te HHS*O_H — | 1Y I.T“i j > T
0.22 » P-4 « T4 [14) =1 dodal ate unde  Cunve = |
A + BrC =

V(,qu'TL\.lH) = 0.

D) P(-0.69 ¢ 2 20.47) -
fad P2 2000

\: ?(24 -O.(aﬂ 3 ?(-—O,(fé L 7 éO.(ﬂ\) (Z>o bi\
- pl2< 06 107 + P(Z>0LT)
= p(Z < —0.67 )+ (2 >0.07)

0.% =
- P(Z>000) 4 P2 >0.7)

0.5 ~
p) Y7 >0.0Y)

0.5 =




